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“B. Sec. (Part-I) CHEMISTRY, 2014
o Inorganic Chemistry-I .'
T.3 H. - FirstPaper M. M. 50
:hz:—-(l)qm—a?%mﬂmﬁeqﬁaﬁ%nEqaﬁ%wu@aﬂosﬁwmﬁa%l
e g | 3 1 B 1 (2) AR T S0 O W, (3) I (3) H e
gq}@atﬁaqaﬁ%wﬁm | T TS &l ST QTR 250 ST Bl | I UL
31/, 3 T & | (3)qm-qgﬂﬂmﬁ§aiﬁﬁqﬁf%aﬂ‘{ﬁﬁﬂ | T U9 B AT

FTERT 500 ST H B | e U 772 3 H.2 |
= | R s R e HR T U MR 3T

aﬂﬁﬁ | Mention one basic difference between the valence bond theory and

molecular orbital theory.
2. 1CI, & A g49ET | Draw the structure of aICI .
3.Wm%mﬁ—ﬁmw| '
Write Born-Lande €q uation for the lattice energy.

4 w@aﬂﬂwwwmwm%aﬂaﬁ%qwamﬁ
qg@@ﬁ?mﬁ%aﬂaﬁ%qwaﬁi

Write thésmame of 2 bond which we believe exist between water
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Molecuyjes and not between molecules of hydrogen sulphide.
5. LiBH , % & 39 fiRa | Write two uses of L;

‘ | 1BH .

6. (icRes engiett & weven & < AR A § 7 T

Whichare the colours of flame with respect to following metals ?
Rb,Cs,Baand Sr.

7. mﬁ\?ﬁ S S ? Whatiis inorganicbenzene ?
8. R i< 1 T 9 & ? What is the cha
9. ET FA S ? Whatisbuffer? - |
10. 9Te Af¥eas 1 81 ¥ ? Whatare group reagents ?
O (S) T - L1, W @ o o wd ¥ 7 oreh F o et e
- TR B ety A o e sy F el e o v A
What do you understand by hybridisation ? What types of geometry is
possible for molecules undergoing the following types of hybridisation and
zn .\;fhisch ty)pe of geometry all th3e ?ond angles are not same ? (i).sp’ (/U());p
iii)sp” (iv)sp'd (v)sp’d’(vi)sp'd’. SV
SIS o ST &l [a==T T | Discuss the bonding indiborane.
T — 102, SIS = o 2 ? JEmexT e qHengd () -
What is Born-Haber cycle ? Explain with example. Bkl /OR ‘
Fr=Afoiae ol = THEl & TArT § o . S B T e qu
ST @t ey forer afea v epR 2l < (1) M eI X--(ii)M_‘eﬁT %
- o R (A)-MT=0.74; X0=1.84; M =0.95T X =1.81.

' What will be the coordination number and arrangementuwith dllagrim of
ionic crystals formed by the combination of following set ofions : () M ™ and
X (i)M and X - \ ) o |

i ofions (A)-M*=0.74; X'=1.84;M'=0.95and X =1.81. -
;é”_oﬁfé)%ﬂmqwﬁuw aIqe @ B B 7 g Qe 4 hel S @
What are alkali and alkaline earth metals ? Why are they so called - ) 1
(i) forepet gresreer 8,300 e § 7 Sfert IR T ARy | Whats diagona
relationship 2 By taking suitable example explainit. ~ 9ar/OR
Explairi the chemistry of the process of 'setting of cement % R B
Wghp 17, 4. R S & T B AL Gae & bl R @ | 5 B
ZA “luorine differs considerably from other member of its
o oot &ifee | Fluorine . IOR
g Give three basic reasons for such differences. Yl
OWIl gl'O“U}J. 7l EET 5 % ? 'Q':fq' T-[\’Q’;PIGF{ E‘% Gﬂm W
o 2l & £ [ ‘typesx of oxide are formed by nitrogen ? Wha}f are the
How many o - ;ides ? Explain the structure of any two
oxidation state of nitrogen in these oxides p

racteristics of safety glass ? -

oxide of nitrogen

Vsmﬂmﬁmmﬁiwm.” e .
g .F;dvl'lin with chemical reactions the detection of fluoride and its
afed FaiRs | BXPI

Jryar / OR
removal in mixture.
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e 3 99f sred & ¢ (i) fedha e & ag HCI & a1 o1 e

(ii) I T o T B G G ST Pl SRR |

Explain why itis necessary ?(i) Toadd dil HCI acid in II group

(ii) To oxidise ferrous ion before proceeding I1I group.

A9 1. ﬂzﬂwaﬁﬂs@aﬁﬂgﬁwmﬂaﬁw@ |

Explain Valence Shell electron pair repulsion theory.

2. 9-8{-dIcd & ! fee=mT I | Discuss van-der- Waal's forces.

3. TEEd 4 ? (i) e S omaee Sl @R igel § a9y difes § e Sl
e 3TN T 2 | (if) Li 81 TE, Na €1 eiieEs ssis-K, Rb 3R Cs
o] GUR-STEEEs 0§ 1 (i) X g9 9igel & Feime Sgemeia eid 2
IExplain why ? (i) The ionisation energy of lithium is highest among alkali
metals but it is strongest reducing agent. (ii) Li forms normal oxide, Na form

peroxide, while K, Rb & Cs form super-oxide.
(1i1) Car bonate ofalkaline earthhmetals are insoluble.

4. T Tied THemey - (1)6ﬁ?ﬂa¢mﬁ$ﬁ\rﬁrcﬁﬂﬁm%l

(ii) Si—O T4, C—O T4 H HIg Bl &,

(iii) NCI, &l STd aTqHe =il 8 NF, &l 78l ;
(iv) ST=T-2qoM ?ﬂﬁ?ﬁﬂﬁ@?ﬂfﬁ%&ﬁwﬁ e e e g7
Explain withreason :- (i) Boron does not form ionic compounds ;'

(ii) Si—O baendis stronger than G—O bond, |
(iii) NCI,gets hydrolysed whereas NF;does not; (iv) Interhalogen ‘

compoundsare€ more reactive than the constituent halogens

5 (1)Wﬁ$ﬁWQWW$Wa@WWWWW€W
e &1 & ? Why it is necessary to remove interfering acid radicals
before proceedings to IIT group in qualitative analysis 7 - ' -

(ll)mﬁzﬁ@a‘@sﬂ%m@wm I

" Explain sodium carbonate extractand its uses.

(iif) &0 gerebt % I e T & T H,SO, T HNO, o7t 31 S9arT a2t
T& #a & ? H,SO, and HNO, acid are not used in formation of or iginal

solution for basic radicals. Why ?
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